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Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

(=2

TheYoung'smodulusof amaterial of wireis
12.6 x 10 dyne/cm? . Its value in MKS
gydemis

(A) 12.6 x 10*? N/m?

(B) 12.6 x 1019 N/m?

(C) 12.6 x 106 N/n?

(D) 12.6 x 108 N/n?

A particleismoving eastward with aspeed of
5m/s. In 10 sthe velocity changesto 5 m/s
northwards. Theaverageaccelerationinthis
timeis

(A) zero.

1
(B) N m/s? towards north-west.

(C) 172 m/s? towards north-west.
(D) 1/2 m/s? towards north.

A grasshopejump maximum distance 1.6m. It
spendsnegligibletimeontheground. How far
will goin 10 seconds?

(A) 542 m
(C)20+/2 m

(B)104/2 m
(D) 40+/2 m

Can an object maintain uniformvelocity when
itsaccelerationisnot zero?

(A) no,impossible

(B) yes, but only if the accelerationisin the
direction of thevelocity

(C) yes, but only if theaccel erationisopposite
tothedirection of theveocity

(D) yes, if theaccelerationis perpendicular to
thevelocity.

A uniformthick string of length5m isresting
onahorizontd frictionlesssurface. Itispulled
by a horizontal force of 5N from oneend .
Thetensoninthestringat Imfromtheforce

appliedis:
(A) zero (B) 5N
(C) 4N (D) 1N

Thelength of asecondshandinawatchislcm.
Themagnitudeof changeinveocity of itstipin
15secondis:

(A) zero
(C) ©/30 cmis

(B) n/30~/2 cm/s
(D) n+/2 /30 cm/s

Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

T IR & uarl b1 AT qone 12.6 x 101
dyne/lcm? & | MKSUgfl # g6&T 714 &

(A) 12.6 x 102 N/m?

(B) 12.6 x 101 N/m?

(C) 12.6 x 105 N/m?

(D) 12.6 x 108 N/m?

Tdh BT 5M/SHI AT qd BT AR TR 2 |
10 s, I gEABY 5 M/STTR BT 3R & ST
2| 59 99T H 3id «RuT ©

(A) T

1
(B) 2 M/S? ITR—UTTH BT 3R

(C) 1/2 m/s? STR—uf¥=aH @ 3R
(D) 1/2 M/ ITR @ 3R

e feser affiaan 1.6m e ds 9l & | I8
ERTTA R 708 99 f3arar 2 | 98 10 davs
H el g SIRRT ?
(A) 52 m
(C)20+/2 m

(B)104/2 m
(D) 40+/2 m

FT BIg I THAAN 9911 G Fhdl & od
SHHT RO I TRl B P

(A) 8T, 3w

(B) &, oifdh daat Tt afe @=or a1 a1 e
H B

(C) &, <Ifh Haer T afX @ROT 7 @ fem
& famdia & |

(D) &, afg @Ror, 97 & ovaqdq 2 |

5m ol T FHwY AT SN U &ifrsT ayorEe
g3 oR faRTd wR B oW US fAR 9
5N & &fos 9o gRT Wiar ST 8 | TR
I A IMWR SN H 919 ©

(A) (B) 5N
(C) 4N (D) 1N

TE TS H HHTS Bl g o s leme | 15
JHvS H gD Aih B I H YRad= BT TRATIT
g

(A) =T (B) n/30+/2 cmis
(C) n/30 cm/s (D) /2 /30 ci's
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Q.7

Q.8

Q.9

Q.10

Q.11

(=2

Which of the following forces is not
consarvative?

(A) E=3i+4]
(C) F=3yi +4x]

(B) F=3xi +4y]j
(D) F=3x%i+4y?]

Thedengty of anon-uniform rod of length Im
isgivenby p(x)=a(1+bx?

whereaand b are constantsand 0< x < 1.
The centre of massof therodwill beat

3(2+b) 4(2+b)
A) 43+ b) B) 331 1)

3(3+b) 4(3+D)
©) a2+ b) D) 32+ b)

Giventhat aforce F actson abody for timet,

and displacesthe body by d. Inwhich of the
following casesthevel ocity of the body must
increase?
(A) [FI>d

(C) Flld

(B) IFI<d
D)Fld

The centre of mass of asolid coneaongthe
linefrom thecentre of thebasetothevertexis
a

(A) one-fourth of the height

(B) one-third of the height

(C) onefifthof theheight

(D) Noneof theabove

Theaccderationtimegraph of apartidemoving
aongastraight lineisasshowninfigure. At
what timethepartideacquiresitsinitia velocity?

a(m/s)
10
o > »1(S)
(A)12s (B)5s
(C)8s (D) 16

Q.7

Q.8

Q.9

Q.10

Q.11

ot § 9 Pprar 9o axeft T8 R ?
(A) F=3i+4] (B) F=3xi +4y]
(C) F=3yi+4x] (D) F=3x%i+4y?]

1m o 1S B Uh NIHHY BS BT T
p(X) = a(1 + bx?) grr f&a1 SI1am ®, S8l adb
i € M 0<X <18 | B BT SIAR-D=
foa w g

3(2+b) 4(2+b)
) 43+D) ) 33+D)

3(3+b) 4(3+D)
) 42+ 1) ) 32+ D)

fear & f5 v aat F, ¥ t, & fom v avg
R B o SN d foxenfid wwar & | e &

¥ g Rerfd § avq &1 97 g ?
(A)IF>d (B) IFl<d
(©) Flid (D) FLd

T O ey & IR & Bg A Y T ol v@T
& AT THPT GIHT—b= ©

(A) T dUTg $AIg W

(B) Us forers $ar8 w

(C) 3=E & dfad 91T W

(D) SWIad # F BIS &

TP el Y@ & I TR Th BT BT
RU—AHY IR R | uefldid 2 | fea a9u

TR BT $HBT YRPBAH I YT HRaT § 7

a(m/s)
10
o > »(S)
(A)12s (B)5s
(C)8s (D) 16s
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Q.12

Q.13

Q.14

Q.15

(=2

A particleisprojected vertically upwardwith Q.12 T& &7 &I 25 m/S® IR I | SHEaleR

initid velocity 25mv/s. For itsmotionduringthird
second, which of thefollowing statement is
correct?

(A) Displacement of theparticleis30m

(B) Distancecovered by the particleis30 m.
(C) Distance covered by theparticleis2.5m
(D) Noneof these

Threeidentica uniform rodsof thesamemass
M and length L are arranged in xy plane as
shown inthefigure. A fourth uniform rod of
mass 3M has been placed as showninthexy
plane. What should betheva ue of thelength
of thefourth rod such that the center of mass
of al thefour rodslieat theorigin?

Y

L
45°
45° L X

4th rod
(A)L(242+1)/3  (B)2L
(C)L(¥2+1)/3 (D) 3L

A block restson aroughinclined planemaking
an angle of 30° with the horizontal. The
coefficient of staticfriction between the block
and theplaneis0.8. If thefrictiona forceon
the block is 10 N, the mass of the block (in
kg) is(takeg=10M/s?)

(A)2.0 (B)4.0

(©) 16 (D)2.5

Two bulletsarefired at angles6 and 90 -6,
theratio of their timeof flightsis:

(A)1:1 (B)tano: 1

(C) 1: tand (D)tan?0: 1

Q.13

Q.14

Q.15

TR BT AR eI fhar Srar 8 | TRk Savs
P SR s A & o, 1 § | P9«
HYUF HEl 7 ?

(A) BT &7 faRemo= 30m 2 |

(B) 9T gRT @ & 30m T |

(C) &1 gRT T I 25m B |

(D) 374 & ®ig a1

A @9 M g o L @ O |JEey
THAAE Bs U d v AR Xy 9 H
ZaRerd g1 3M SEH B Ush el 9wy
TS Xy T H S AFAR @I 718 2 | Al B
ST Jol—fdwg IR BT 7

Y

L
45°
45° L X

4th rod
(A)L(242+1)/3  (B)2L
(C)L(v2+1)/3 (D) 3L

UG id &fast 4 30° BT a9 M dlel U
YR AT I W fIRM W 8 | @i 9 I &
dra Wfas avor qorie 0.8 7| I <fed W
g7 g7 10N 8, T & &l g (kgH) @

(9=10m/s?<)
(A) 2.0 (B) 4.0
(C) 1.6 (D) 2.5

<1 Miferdt 0990 —0 SN W Tl Sl &, ar
SIS ISSITDHIE! BT U 2

A)1:1 B)tanb: 1

(C) 1: tand (D)tan?0: 1
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Q.16

Q.17

Q.18

Q.19

(=2

Abadl rollsthroughahallow fixed semicircular
tubelyingflat on ahorizonta tabletop. Which
diagram best showsthe path of the ball after
emerging fromthetube, asviewed from above?

») (U ®) C
- l

© C ) @
~ .

A body of massmreleased fromaheight hon
asmoothinclined planethat isshowninthe
figure. The following can be true about the
velocity of the block knowing that thewedge
isfixed.

0

(A) vishighest whenit just touchesthe spring
(B) vishighest whenit compressesthe spring
by someamount

(C) vishighest when the spring comesback to
natural pogtion

(D) none

A projectileof massmisthrownwithavelocity
v makinganangled withthehorizonta asshown
infigure. Neglecting air resi stance, thechange
inmomentum fromitsdepartureAtoitsarriva
aBis:

V

&

(A)2mvsinoe (B) 2mv
(C)2mvsin(6/2) (D) 2mv cos(6/2)

A projectileisthrown horizontally with aspeed
of 20ms. If gis10 m s, thenthe speed of
theprojectileafter 5 second will benearly :
(A)0.5mst (B)5ms?
(C)54mst (D) 500 m s

Q.16

Q.17

Q.18

Q.19

U 1§ TP &fol <dal e IR F9ad 9T Uh
Grgell Rer srfqefi Aferat # & Jead 2 |
P fod IR | <@H W el F e &
91€ A & YU BT AaH 00T § ?

») ( ®) (
- l

© C ) @
~ .

MERAN & Uh <ldh B 73 § R R
g fIdH 3d dd R h a8 4§ gaa o
SIAT 2 | §1d & & 991 ReR &, a1 <l & o7
@ IR H 99 9 DI G B Ahd1 © 7

m

6

(A) v 3=adH BIdT & ofd I8 Sid REAT &l &l
=
(B) v STaaH T & o9 I8 RBRT &1 ofier—r
FRNFET BT B |
(C) v S=ac¥ BIel & 91 RERT 919 370+l e
Rerfay # ol
(D) ®1g e
M SEE & Uh 98 F 3 quid o gaR
&S | 0 BIOT I I VAT A Bhl A1 |
Y YRR 10 AR, A1 A9 $9a Y&Ior
B W $9& Ugd I HIT H IR B

v

&

(A)2mvsine (B) 2mv
(C)2mvsin(6/2) (D) 2mv cos(6/2)

TS va 20 m st @l = | &ford: Gt
Smar 21 afe g=10m s2%, dr 5 second
TIAT YT BT ATel S THIT BT
(A)0.5mst (B)5ms?
(C)54mst (D) 500 ms*
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Q.20

Q.21

Q.22

Q.23

Q.24

Q.25

(=2

A bulletisfired fromagun, then

(A) kineticenergy of the(gun + bullet) system
isconserved

(B) Momentum of gunisconserved

(C) Momentum of bullet isconserved

(D) Momentum (gun + bullet) system is
conserved

Postulate of kinetictheory is
(A)Atomisindivishble

(B) moleculeshave considerablevolume

(C) there is no influence of gravity on the
moleculesof agas

(D) noneof the above.

Which of thefollowing representationsof atom
isincorrect ?
(A) gF
©) 50

(B) N
D) gC

Theionic radii of isoelectronic species N*,
0% & F inA arein order:

(A) 1.36,1.40,1.71 (B)1.36,1.71, 1.40
(C) 1.71,1.40,1.36 (D) 1.71, 1.36, 1.70

How many moles of electron weight one
kilogram

(A) 6.023 x 10 (B) x 1031

9.108

6.023x10*

8
9.108 10

© (O) 9108x6.023 >

Thevan der Waa'sequation for areal gasis
a

(A) (IO+ FJ (v-b) =nRT
anz

(B) p+7 (v-b)=nRT

() [p+ \%j (v+b) =nRT

nRT n%a

(v—nb) V2

(D) p=

Q.20

Q.21

Q.22

Q.23

Q.24

Q.25

T 95& 9 TP el Il Sl &, o

(A) T (T8 + TTTetl) BT TS Sl |-ierd
Bl 2

(B) av5& BT HaT ARTEIT Bl 2 |

(C) Tl BT HITT ARfET e B |

(D) T (a5 + TTietl) BT FawT HRferd i
g |

e fAgT &1 IR 5—

(A) T AT BT

(B) arugsit # gaie mra g 8

(C) 9 & Nv3it R Hed BT 47a &1 B 2
(D) SWRIe H I BIS !

1 5 9§ I=A] BT BT FReuT Ted € 7

(A) g'F
(© 0

(B) LN
(D) sC
THgaeie wefit N3, OF g F &1
smafe B (A #) &1 3 2

(A)1.36,1.40,1.71 (B) 1.36, 1.71, 1.40
(C) 1.71,1.40,1.36 (D) 1.71, 1.36, 1.70

fohd= HIcT Solaei= & 9R TUh fhaliumd s8R

(A) 6.023 x 10% x 1031

®) 9.108

6.023x10*
9.108

8
© (®) 9108x6.023 > 10

qRdfd® I & foIT gy dTet AHIHROT B—

(A) (m\%} (v-b) =nRT

2

(B) (m%} (v-b)=nRT

() [p+ \%j (v+b) =nRT

nRT n%a
(v—nb) V2

(D) p=
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Q.26

Q.27

Q.28

Q.29

Q.30

Q.31

(=2

Thesecondionizationenergiesof Li,Be Band Q.26
C areintheorder

(A)Li>C>B>Be

(B)Li>B>C>Be

(C)B>C>Be>Li

(D)Be>C>B>Li

Asthetemperatureincreasesaveragekinetic Q.27
energy of moleculesincreases. What would be

the effect of increase of temperature on
pressure provided thevolumeisconstant.

(A) Increases (B) Decreases

(C) Remainssame (D) Becomeshdlf

Thenumber of atomspresentinonemoleof Q.28
andementisequa toAvogadro number which

of thefollowing e ementscontainsthegreatest

number of atoms?

(A) 4gHe (B) 46 g Na

(C)0.40gCa (D) 12gHe

In[Ag(CN),]-, thenumber of = bondsis Q.29
(A)2 (B)3

(C) 4 (D)6

Which of the following colours has highest Q.30

energy ?
(A)Blue (B) Red
(C) Vidlet (D) Yellow

Theisotherm obtained for COisasfollows: Q.31

P—>

Thecompressibility factor of thegasat pointA
will be

Wiy ey

b a
© (“ ﬁj (®) (1+ RTVJ

Li, Be, B dem C &1 fgaiia I SHolisil &l
w8

(A)Li>C>B>Be

(B)Li>B>C>Be

(C)B>C>Be>Li

(D)Be>C>B>Li

SR 19 93T &, JAY3M BT 3id Tferst
ol ggdl & | fFd JrIa R&d gy g @l
gfg A W TE W T Y9G TS |

(A) 9eaT 8 (B) Tt

(C) |94 & & (D) 31T & ST '

U HieT dcd W SUR URATVRT Bl R
JTANTTET AT & a_T6R 8ial © | 1 5 9 fos
T H AT 31 Fe&1 Afdedd & ?

(A) 4gHe (B) 46 g Na
(C)0.40gCa (D) 12gHe
[AQ(CN),] ¥, m dell &1 wem &

(A)2 B)3

(C)4 (D)6

71 % 9 g 397 @1 SHoll Ieaad Bl g ?
(A) e (B) et

(C) & =it (D) dretr

CO & forv urg woamd as 9 UoR &

P—>
g AW 1 &1 9=fiifggar ere g |
Wiy ey

b a
© (“ ﬁj (®) (1+ RTVJ
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Q.32

Q.33

Q.34

Q.35

Q.36

Q.37

Q.38

(=2

Electronic configuration of most dectronegative
aomis:

(A) 1s? 25% 2pb 3st

(B) 1s? 2s? 2p° 3¢? 3p°

(C) 12 25° 2p°

(D) 1s? 25? 2pb 3% 3pb

Which of the following atomic number is
present inf-block
(A)72 (B) 57
(C) 89 (D) 63
Which of thefollowingiscorrect.
M AR
) 1s 2s 2p
ot [t
®) 1s 2s 2p
" H !
© 1s 2s 2p
t 1y (N
©) 1s 2s 2p
The shapeof ozonemoleculeis
(A) Linear (B) Trigond
(C) Bent (D) Tetrahedra

Thecorrect order of electron affinitiesof N,
O,SandClis

(A)N<O<Ss<(l
(C)O=Cl<N=S

(B)O<N<Cl<S
(D) O<S<ClI<N

Thestructure of IF,is
(A) Trigond bipyramid
(B) Octahedral

(C) Pentagond bipyramid
(D) Square pyramid

Which of the following sets of quantum
numbersispermitted?

1
A)n=2,1=2,m=-1,s= +§

1
(B) n:2,I:1,m:2,s:+§

(©) n=2,1=0,m=0,s=0

1
(D) n:2,I:1,m:—1,s:—§

Q.32

Q.33

Q.34

Q.35

Q.36

Q.37

Q.38

|ife® fARfaaroll WA 6T gelds d A=
g

(A) 1s? 25? 2pb 3st

(B) 12 2<% 26 352 3pS

(C) 1% 252 2p°

(D) 1s? 22 2pP 3<% 3p°

1 3 | DI URHTY] i f-eciies H SuRerd
3

(A)72 (B) 57
(C) 89 (D) 63
1 4 ¥ PIFar |98l B |
I it
) 1s 2s 2p
t [t e
®) 1s 2s 2p
" Ht !
© 1s 2s 2p
t [t
©) 1s 2s 2p
SIS 3] I 3P Biell &
(A) xd= (B) i
©) 78 & (D) =gwperara

N, O, ST Cl @1 faegd awearsii &1 g1 HH
g

(AYN<O<S<Cl
(C)O=CI<N=S

|F, @1 AT 8

(A) Py gl
(B) Irc®H Db
(OREEauIEFHENIESD]
(D) ot fRIfE

1 # | FaveH J@Imel BT BT Aged

W (permitted) &7

(B)O<N<Cl<S
(D) O<S<ClI<N

1
A)n=2,1=2,m=-1,s= +§

1

(B) n:2,I:1,m:2,s:+§
(©) n=2,1=0,m=0,s=0

1

(D) n:2,I:1,m:—1,s:—§
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Q.39

Q.40

Q.41

Q.42

Q.43

Q.44

Q.45

(=2

Equationfor Boyleslawis

g Py e dv

Y ® 5=y
d?P  dv dP  d?v

C)—=—= D) —=+—

© P dT ) P dT

If thefour tubes of acar arefilled tothesame
pressurewithN, , O, , H, and Ne separately
thenwhich onewill befilled first?

(AN, (B) O,

(O H, (D) Ne

The product of all the real solution(s)
of theequation

2logy(x—1) =2+ Iog(zx_l) 3-log 5 (x-1)is
(A)3 (B) 4

4
(©) 40 ©) 5

If "' be the pi" term of a GP, whose
(p+ g)fand (p— )" termsare a(a> 0)
and c respectivdy and dsof (x) =ax2—2bx +c,
thenforalx e R
(A) af(x) >0
(C) af(x) >0

(B) af(x) <0
(D) af(x) <0

A line inclined at an angle of 135° to the
X —axispassesthroughthepointA (3,4). There
aretwo points P and Q on the line such that

AP=AQ=2./2 . Theco-ordinates of Pand
Qarerespectively:

(A) (~1,-6) and (5,2)

(B) (1,—6) and (=5, 2)

(©) (L 6) and (5,-2)

(D) (1,6) and (5, 2)

Minimum distance between the circles
x2+y2=144 and x2+y2—-6x—-8y =0, is
(A)O (B) 2

(7 (D) 17

If log,,s7=4a log,5=b thenlog, 105is
equal to

(A)ab (B) (b+ 1a

1
© % (D) a(b+1)

Q.39

Q.40

Q.41

Q.42

Q.43

Q.44

Q.45

gt o & forn adiexor 2—

NPV P v

Y ® 5=y
d’P v dp  d?v

O% a7 O%"a

I U SR P IR <Al B YIS wI I
N,, O, , H,er NeXi {1 T4 e *RT 51
AT DI <Y AT Ul WA ?

(A) N, (B) O,
(C)H, (D) Ne
FHIHROT
2logy(x —1) =2+ Iog(zx_l) 3-log ;5 (x—1)
@ I IR B /Bl Pl TOHS ©
(A)3 (B)4
4
(C) 40 D) 3

afe ‘o' T T iR St @1 paf O R,
S (p+ q)d 9o (p—q) & us wHHera(a>0)
qATCE qAT A &, f(X) = ax?—2bx + c &1, ar
T x € R® forg grm

(A) af(x) >0 (B) af(x) <0
(C)af(x)>0 (D) af(x) <0

T X, O X-37T & 13509 p1oT % g g2
2,05 A(3,4) 3 o 7| X R 1 g
Pdem Q9 UK € f6 AP=AQ=22 2,
ar Pa Q@ fAdena s @

(A) (-1, —6) (5, 2)

(B) (1,—6) @er (-5, 2)

(C) (1, 6) Ter (5,-2)

(D) (1, 6) Ter (5,2)

gl X2 +y? =144 T7 x> +y?—6x—8y=0

@ HeY YATH I ®
(A)0 (B) 2
()7 (D) 17

afe log,s7 =a, log,5=b &, log,105
BT A ©

(A)ab (B) (b+1)a
1
© % D)3+
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Q.46

Q.47

Q.48

Q.49

Q.50

Q.51

(=2

Let A and B denote the points of intersection
of the circles x? + y2 — 6x + 4y = 3 and
X2 +Yy?+4x —4y=17. Thedopeof lineAB,
iS

A) B) =
) 7 (B) 3
0> D) >
© 5 D),
The pair of lines represented by

4ax? + 6xy — (22 + 4)y?>= 0 are perpendicul ar
to each other for

(A) novauesof 'a

(B) exactly onevalueof 'a

(C) twovauesof 'a

(D) every real valueof 'a

If thelargest vdlueof x satisfyingtheequation

40
5+ 5_X: 14, is p then 5P isequal to

(A)2 B)4
()7 (D) 10

A linepassesthrough (2, 2) andisperpendicular
totheline3x +y=3. Itsy-intercept is

A 1 B 2
(A) 3 B) 3
C1 D 4
(©) (D) 3
If the roots of the equation

72x3—108x2 + 46x —5=0 arein arithmetic
progress on then thedifference between largest
and smalest root liesintheinterva

1 11
(A) (0' Ej (B) (5' ﬁj
1
ol o

Supposex andy arereal numbers satisfying
the equation x?+y? —22x — 20y + 221 =0.
Thevaueof xyis
(A)90

(C) 110

(B) 100
(D) none

Q.46

Q.47

Q.48

Q.49

Q.50

Q.51

AET AT B gl X2+ y?—6x + 4y =31d
X2 +y? +4x — Ay = 17 & wfcresed a5l &1
e a7, a1 X&1 AB &1 e 81T

1 1
(A) 2 (B) >

5 3
© 2 (D) 2

4ax? + 6xy — (22 + 4)y? = 0 gRT f=efid it
BT TH Uh R S Iad 2

(A)'d @ ol ff a9 & fory =18
(B)'a® d& vs A & ford
(C)'d® 31 9+l & ford

(D) 'd & UAF aRdfdd A B ford

i FHIHRT 5 + %):1421?{?1@"%%—{#3@
X P ASTH A P &, O 5P &AM '
(A)2 (B)4

(©)7 (D) 10

fa7g (2, 2) 1 T[ORA dTell U V&I Ueb 377 Nl
3X+y=3% oaq g, Al 39D Y-3<T-TVE BT
A 8

1 2
(A) 3 (B) 3

01 D ﬂ
© ( )3
gfe gt 72x3—108x2+ 46X —5=0 &
ol TR Sl # 2, A1 #e<H Ud ofg<i qo
P Y R BT 7F = § 9 {9 seRieT §

1 1 1
*) (0’ z] ®) (5’ ﬁ)
1
©) (ﬁ 1} (D)(1,2)

AT X AT Y T IRAfAd AT § ST FHIHROT
X2 +y2 - 22x — 20y + 221 = 0 &Y T B

g, A Xy ®TAM B
(A)90 (B) 100
(C) 110 (D) 31 &l
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Q.52

Q.53

Q.54

Q.55

Q.56

Q.57

Q.58

(=2

Thevaueof mforwhichthetriangleformed
by thelines y =5,y =mx —6 andy=—mx—6
will beequilaterd, is

2
® 73 (8) V3
1
(©) @ (O) 73

Number of wholenumbersk for whichthesum
of the roots of equation 4x% + k’x + k=0
isequal totwicetheproduct of theroots, is
(A)infinite (B)O

©1 (D)2

ABC is triangle with coordinates
A (2,6),B(0,0) and C (14, 0). Theradiusof
thecirclepassingthroughA,BandCis

(A) 245 (B) 35

(©) 5v2 (D) 5V3
88

The value of the sum » sec° sec (0+1)°
06=0

equas

(A) cosec1® (B) cot 1°

(C)cosec1°cot1®° (D)secl°tanl®

If a, B,y and & are roots of equation
x*—7x?+x -5=0, then thevalue of

(0 +B+7y)(a+tP+8)(B+y+38)(aty+9)
isequa to

(A)-1 (B)1
(C)-5 (D)5
111
If E a'F areinA.P.and pand r bedifferent

having samesign, then therootsof theequation
px2+ 20x +r=0 will be

(A) red (B) equa

(©) imaginary (D) red and distinct

Theline x + 3y — 2 =0 bisects the angle
between apair of straight linesof which one
hasequationx — 7y + 5=0. The equation of
theother lineis

(A) 3x+3y—-1=0 (B) x—-3y+2=0
(C) 5x+5y—3=0 (D) none

Q.52

Q.53

Q.54

Q.55

Q.56

Q.57

Q.58

M1 a8 A9, 59 forr Yareit
y=5y=mx—6Tay=—mx—6 A FfHdd
r]ST FaTg ©, BN

2
® 73 (8) V3
1
(©) @ (0) 73

I ot i K a1 v, foreas forl deiasor
A2+ kX +k=0® Fel &1 AT, qeli &
U BT AT &, BT

(A) s (B) 0

©1 (D)2

afs s ABC & vl & fcenms
A(2,6),B(0,0)d2mC(14,0) g, ar A, B Ter

C ¥ oA drel g &1 Frear grft

(A) 25 (B) 35

(C) 5v2 (D) 5v/3
88

AT ) sech° sec (0+1)° Fr A B
06=0

(A) cosec1® (B) cot 1°

(C)cosec1°cot1®° (D)secl°tanl®

afe a, B,y qAT & FHHRT
X4—7x?+x-5=0 9 &, d
(a+B+y)(a+P+3)(B+y+d)(aty+d)
& A &

(A) -1 (B) 1
(C)-5 (D)5

111 _ .
aﬁ{glaq AR SO H 2 9T p ud r

e g & fr-fae 2 a@ 9Hiex
pX?+ 20X +r=0 & J B

(A) ar<afa® (B) w1
(C) ®reufa (D) arwafgs  qen
==

RGT X + 3y —2=0 I WReT WGH & 92 &

HIOT DI FHGATRIT B 8, o8 A THh &T

FHEROT X — 7y +5=0 2, T 3 3@l &7

THDHRT

(A) 3x+3y—-1=0 (B) x-3y+2=0

(C) 5x+5y—-3=0 (D) &I =&l
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Q.59

Q.60

Q.1
Q.8

Q.15
Q.22
Q.29
Q.36
Q.43
Q.50
Q.57

If a=1og503 and c=log5, thenthevaueof
log2012intermsof a and c,is
(A)a+2c-2 (B)a+2c+2
(C)a—2c+2 (D)a—2c-2

If s= cos’a + cos’B, then the value of
cos(a + ) cos(a.—B) intermsof 's,is

s-1
(A)s-1 (B) —
(©) ¢ (D)1-s

ANSWERKEY

B Q2 B Q3 C Q4 A
A Q9 C Q10 A Ql1 C
B Q16 D Ql7 B Q.18 A
B Q23 C Q24 D Q25 D
C Q30 C Q31 B Q32 C
A Q37 C Q38 D Q39 A
D Q44 B Q45 D Q46 C
B Q51 C Q52 B Q53 C
C Q58 C Q59 C Q60 A

Q.59 afe a=log503 dar c=log5 &I, ar a a2

C @& Uai # log 2012 &1 79 &
(A)a+2c—-2 (B)a+2c+2
(C)a—2c+2 (D)a—2c-2

Q.60 afe s=cofo +cos®P & @ 'S D Ual H

cos(a + B) cos(a.—B) &1 A &

s-1
(A)s—1 (B) —
© ¢ (D)1-s
Q5 C Q6 D Q7 C
Q12 C Q13 C Q14 A
Q19 C Q20 D Q21 C
Q26 B Q27 A Q28 D
Q33 D Q34 A Q35 C
Q40 C Q41 B Q42 A
Q47 B Q48 D Q49 D
Q54 C Q5 C Q56 C
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